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- Kate asked Betty about the cost of boarding and grooming dogs at Doggy Hotel. Betty's receipt did not
show the individual prices for boarding and grooming, but one receipt showed a total of $70 for one
grooming and 5 days of boarding. Another receipt showed a total of $164 for two groomings and 12 days
of boarding. Together they wrote this system of equations to find the individual costs of boarding and
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1. How is the system {‘299 125 = 164 different from The sysTems of equations we solved yesterday?
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3. Solve the sysTem usmg subsTlTu‘raon Ver‘:fy that your solution is correct.
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4. In this situation, what does your so u‘r:on represent?
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Steps for solving by substitution; ' — B \;
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6. AT {L‘ iw,f}, the solution.

2L i
B 0y <A
- NS

Page I of 2



Linear Systems LS4

s [ 0 4={y)

X4y = —3 e

X 4+ (~ qx)**E

_BX . /‘/’—w

X *—zi‘/
= =4 ()
iy

{3x=11+y 3 (\3;5«"\)

7x-5y=-t

x-S (3% \‘Q-— -
'7xw15x+sgr““

-Bx +55= N
_-ss %
fgx\;-w—tet.—
X-82

= (@73) ¥

\(\?’Zfliﬂf)

%”%WV\C LA M

Solve the system of equations using substitution.

’/E;L#B”KS . :
)

e,

{/ ™

x=y-7 Y= CBA%?)-

Ry (2K =Y

0 %Y

T :

Page 2 of 2




